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@ JG @ @ Multiplique por poténcias de dez (nimero ausente)
Nome: Encontro: Data: Pontuacdo:

10, 519 x = 10519 8, 864 x = 88.64

10, 073 x =1007.3 7,486 x = 7486

6, 508 x = 6508 5,716 x =571.6

8, 693 x = 8693 8,711 x = 8711

9,298 x =929.8 4,021 x =402.1

10, 005 x = 1000.5 2,521 % =252.1
9,724 x =9724 4,535 x = 4535

10, 845 x = 1084.5 5,299 x =5299
5,373 x = 5373 4,345 x = 4345

3, 68 x = 368 1, 156 x =115.6
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Multiplique por poténcias de dez (nimero ausente)

Nome:

10,519 x 1000 = 10519

10,073 x 100 = 1007.3

6, 508 x 1000 = 6508

8,693 x 1000 = 8693

9,298 x 100 = 929.8

10, 005 x 100 = 1000.5

9,724 x 100 = 972.4

10, 845 x 100 = 1084.5

5,373 x 1000 = 5373

3,68 x 100 = 368

Encontro: Data:

Pontuacao:

8,864 x 10 = 88.64

7,486 x 1000 = 7486

5,716 x 100 = 571.6

8,711 x 1000 = 8711

4,021 x 100 = 402.1

2,521 x 100 = 252.1

4,535 x 1000 = 4535

5,299 x 100 = 529.9

4,345 x 1000 = 4345

1,156 x 100 = 115.6
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